INDIAN SCHOOL MUSCAT

FINAL TERM EXAMINATION

SET A

FEBRUARY 2019
CLASS IX
Marking Scheme - MATHEMATICS[THEORY]
Q.NO. Answers Marks
(with split up)
1 1 1 1
8 p=2. 4=
6 o5
2 14 1
3 4-4+8=8 1 1
OR 575
21+9=30
4
azzlo%éa=13cm. 1+1
OR
8x6x2.5=120cm’.
5 5/3 of right angle = 150° 1 1
Supplement = 30° E + E
6 Any one 1
7 9k(-1) + 12k(-1) = 63 1
9k — 12k = 63 5 *4=2
-21k =63
K=-3
8 P(even no) =0.48 or 12/25 1+1
P(prime no) = 0.47 or 47/100
9 r’ =400 - 256 = 144 1
r=12 cm EX 4=2
CS.A=3.14x12x20
= 753.6 cm’.
10 ar(ABD) = ar(ACD) - (1) A 1
ar(BED) = ar(CED) - (2) F%4=2
No reason,
(1)-(2) > cut % mark

ar(ABE) = ar(ACE)




OR

Fig— %

Ar(DBC) = ar( EBC)  (GIVEN) g Y
Triangles on same base and having
equal area, lie between the same %
parallels.
>DE||BC 1/2
11 Construction 2
12 Proof — Theorem 2
OR
AM =DM -(1) - -
BM =CM -(2) 4 - 1
(1) -(2) > ) 5x4=2
AB=CD No reason,
cut % mark
13 ZBAD + ZABC =180° D 1
1 1 1 1/2
= /BAD + = ZABC = = x180° © 1/2
2 2 2 1/2
Z0AB + Z0OBA=90° Fig— %
AOB = 90° :\lo reason, cut
1 1 % mark
EF ==~ AB,DF =-BC,DE=3AC 1
2 2 %
EF =3cm, DF = 3.6cm, DE = 3.9cm %
perimeter =3+ 3.6 +3.9 ro
=10.5cm ng A
o reason, cut
% mark
14 P(-2)=0 %
2(-2)>-K(-2)%+3(-2)+10=0 %
-16-4K-6+10=0 1
-4K =12 %
K=-3 %
OR
p(2) =g(2) 72
a(2)?+3(2)%-13 = 2(2)*-5(2)+a Y+ %
8a+12-13=16-10+a Yo+ Vs
a=1 Z
15 NO.OF TAILS TALLY MARK FREQUENCY Table-1/2
0 10 1/2
1 8 1/2
2 7 1/2
3 5 1/2
TOTAL 30 1/2
16 2 (8m*-27n?) 1 for each




2[(2m)* - (3n)’] factor
2(2m = 3n)(4m? + 6mn + 9n?)
17 Let ON =x > OM = 17-x %
In AAMO & ACNO
OA’ = 0C? %
(17 -X)P?+52=X+12° 1
-34X =-170
-, \i/ ’
Radius VOC? = /x? +12?
%
=13 cm
#/BDC = ZBAC =30° D 1
Z/BCD =180° —(70° +30°)
/BCD =80° 1
If AB = BC, Angle ACB = 30°. pk—L0 C
Angle ECD = 80° - 30" = 50°. v !
18 $=270m 1
Area =9000m”. 1&1/2
Height =72 m 1/2
19 Angle Q > Angle R P
Angle QPS = Angle RPS 1
ZQ + ZQPS - /R + ZRPS
180° — (L/Q + ZQPS) < 1
180° — (LR + ZRPS) . 1
£ PSR > 2 PSQ. S
20 T.S.A =1540cm’
2rr(r + h) = 1540 1
2mr(r + 4r) = 1540
r=7cm 1&%
Height =28 cm 1/2
21 Construction 3
22 Construction 3
OR
1 1
LHS = + . 1
x? X
1+ 1+
X X
x>+ X 1&%
x® + x°
%
= RHS
29 Z=90-65 = 25°. 4x1=4
W = 65°. A c E _ No reason, cut
X =115°. = v % mark




OR A
ZACD = ZBAC + ZABC

1

ELACD = %(LBAC + ZABC)

ZACQ = ZPAC +%LABC —(i

ZACQ = /PAC + Z/APC — (ii)
from(i) & (ii)

ZAPC = %LABC

oy
'c\
el
w)

\j

1

24

QUOTIENT =2x> + 9x* + x =2
Remainder=0

4stepsx1=4

26

ZCAD=ZDBC -(i) D C
Z CAB=ZDBA - (ii)
(i) + (i) >
ZDAB = ZABC
AD =BC A B
Z/DAB = ZABC
AB = AB
DAB = CBA(SAS)
BD = AC(cpct)

(i)AD =BC A
Angle DAB = AngleCBA
AB= AB D
AABD = ABAC (SAS)
BD=AC (cpot)

ZPBD = £BAC (cpct)

27

Graph + solution

23

No. of bottles =V. of hemispherical bowl/v. of 1 bottle
2
= 7(18)3
) (18)

~ 7(3)(6)
=72

OR

%nR3 = %ﬂ(rf +0° )

R® =216 + 512 + 1000
R® =1728

R=12m

Diameter = 24m

28

(a) (-2, 4)> 2nd | (e) (1,2) >1st

8xh=4




(b) (3, -1) »>4th
(c) (-3, -5) >3rd
(d) (-1,0) =>x- axis

(f) (0, 4) >y - axis
(g) (-5,-1) = 3rd
(h) (0, -7) =>y- axis

25 ‘- J7++/6
J7-6 18&%
=13+ 242
y =13-2+42 1&7%
y+XxX=26 1
30 Histogram + frequency polygon 2+2




